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@ (~a-b)?=—(a+b)?
@ (-a+b)? = a®-2ab+ b?
® (~a+2)(-a-2)=-da®>-4
@ (2a-b)? = 4a® - b?

® (a+b)?-(a-b)>=0
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D 5x%2-26x-6 @ 5x2-25x—-12
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B 12x2 = 6x — 20



7. 2x+3)?2+(x+2)Bx+1) =ax? +bx+c¥ M, %

g a, b, c O
a+b+c o g7

D 11 @ 929 3 33 @ 44 ® 55



® 21 3 31 @ 41 3 51

D 11



9. os M2 A2

flo

O (x+3)2=x>+3x+9

@ (4x-3y)? = 16x% — 12xy + 9y?
@ (x+3y)(By-x) =x*-9°
@ (x-5)(x+4)=x2-x-20

® (x4 5y)(2x = 3y) = 2x? + 13x — 15y>
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©) (%x—i—S) <gx—15)
® (x+1)(x+2)

® (2x-3)(x+1)

@ (2x-1)(3x+3)

@ (x-3)(x+6)
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@ (x-4)(x+2) =x2-[ -8
@ (—x+2)(x+[ ) =2+ 4>
® (a+2)(3a-4)=3a>+] |a-38
@ (2x+1)2 =42+ Jr+1

® (x+y-2)(x+y+2)=x2+[ |Jy+y*-4
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D 15x% +16x + 20 @ 15x® +16x-12
® 7x2+8x-14 @ 7x2+8x+18
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